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| <9 (General Instruction) —

T geT dfaard &/ (It is mendatory to answer all the questions.)

g B FoT T 40 8/ (The total number of question is 40)

g&E g9 & forv 1 3% [RERa &1 (Each question carries 1 mark.)

gE go7 & TV @y v 77 &, forH @ ve GE Ay &7 g7 PIorv | (Each question is provided with 4 options,
Choose the correct oprtion.)

> Teld OV @ oy ®IF 3@ 78T BIS it/ (There will be no negative marking for any wrong answer.)

farre 3 — gvs o srerar ‘7 # | el vE @vs @ Wt gE @ Sv ]/
Special Instruction .- Answer all the questions of either Part ‘A’ or Part ‘B’.
oS I (U P d<d)

YV V V

Part A (Elements of Business)

1. Th BH a 31frd U1 8, 39 forg Sugad 2 (A firm which has more customers ,
suitable file system is -)

(a) @t wrsa (Vertical File) (b) AR ®wrger (Wire File)
(c) 399 wIgd (Shannon File) (d) 375 5 1 (All of these)
2. U JEIHIeT Tg S8 AHATel & (The best indexing for a library is - )
(a) TS 3ehHOIaRT (Card Indexing) (b) wRTHD 3rgshArTaT (Vowel Indexing)
(c) 5@ 3gshAfOTRT (Cross Indexing) (d) =spra IrIehHfOTRT (Wheel Indexing)
3. ST WHR HIAT b H ———— P = | (Accepting deposit is --------- function of Bank)
(a) werfa (Primary) (b) TtoT (Secondary)
(c) AT (Social) (d) 375 & @18 21 (None of these)
4. IR H IEIHA dbi w1 FeAm fhadr g 2 (How many Nationalised Banks are there in India ?)
(@) 15 (b) 29
(c) 28 (d) 25

5. | @Td H d& IfAfady @1 gaem <ar & ? (Bank allows overdraft facility in which of these
Accounts ?)
(a) ¥a @rd (Saving Accounts) (b) =me] @ (Current Accounts)
(c) =it ST (Fixed Deposite) (d) 3% = |4 (All of these)




6. BRI g Dl Icufy fbe weal | gg = ° (How many words are there in origin of Office ?)

(a) 2 (b) 3
(c) 4 (d)s
7. DI A1 ATARS HEATAT BT 1 el =@ ¢ (Which one is not a function of business office ?)
(a) 93 9t BT (To receive a letter) (b) 9= NI (To send a letter)
(c) =TT (Filing) (d) (o= (To make decision)
8. BTS IIIHANTHI BT 3MfdwpR fhas fam ? (Who invented Card Indexing ?)
(a) 79 TR (Abe Rosier) (b) I (Grace)
(¢) 3R wIe (Henry Ford) (d) ITew 91 (Graham Bell)

9. ¥l U= @ & Ufcll o & forg Suyaa fafsr 2 (Suitable method to create 2 copies of letter
is-)

(a) 1 g1 (By hand) (b) ®1e9 gRT (By carbon)
(c) <19 Io g1 (By Press Machine) (d) wieiRee g1 (By Photostat)
10. ggUTAfIUARYT & |aH QR fafer & (The oldest method of duplicating is -)
(a) RStetfest gomed (Gelatin Method) (b) eI womel! (Lithograph Method)
(c) wf=aat wotrelt (Stencil Method) (d) 3ifw¥ce womell (Offset Method)
11. 3 9Tl U fhae YR & 81 & 2 (How many types of inward letters are there ?)
(a) 2 (b) 3
(c) 4 (d)5
12. Hleex &1 YART fdear a1 & (Folder is used in) -
(a) @t wrsa (Vertical File) (b) <1 arelt w1z (Tag File)
(c) 399 wIgd (Shannon File) (d) Sg@marel! wigel (Box File)
13. e 79N 9 gfaferfd Sgarft 8 —  (Copying by rotary machine is useful for ) -
(2) Bedx mTRAl & forg (For Retailers) (b) BT @Al & fere (For small traders)
(c) s |mRal & ferv (Big traders) (d) edl & foru (Customers)

14. 3ifH¥C R Udh 9 H S1fdban Adm # fhdeil el off ST Addl & (What is the maximum
number of copies made at a time by offset ?)

(a) 5000 (b) 15000
(c) 50000 (d) 10000

15. 39 dTel WAl @I fhaid gRT U fohar Sirar = 2 (Inward letters are received by whom ?)
(a) S1fdaT (Postman) (b) =uRrAT (Peon)

(c) SIfdhar vd TuRRA €1 (Both Postman & Peon) (d)s9H & @13 a1 (None of these)



16. ARG BRI BT J=F BRI 91 & ? (What is the main function of business office ?)
() =11 y== ®eAT (Providing Information) (b) =T @@aierd AT (Arranging Information)
(c) 31f¥ei TR &= (Preparing Record)  (d) 37 & 91 (All of these)

17. AMUIR® @1 BT fha= 9T # frita s 82 (In how many parts commercial banks can be

divided ?)
(@2 (b) 3
() 4 ) 5
18. {9 @A W dF &oT 8l <dl & ¢ (On which account , bank do not provide interest ?)
(a) 9Tl @1 (current account) (b) s=r@ @rar (Saving Account)
(c) Tt ST @Td (Fixed Deposit Account) (d) srmeit StAT @rar (Recurring Deposit)
19. ggufaferU®<or % & ufd (In duplicating the main copy is )
(a) ITed BT Aol = (Send to the customer) (b) R B ST 2 (become waste)
() BTEeT B & S ¥ (Be filed) (d) ¥ <1 o & (sold)
20. 3 fhd=l YBR & B & ? (How many types of letters are there ?)
(a) 2 (b) 3
(c) 4 (d)7
21. ARG HATAT & fa9RT € — (The departments of business office are -)
(a) <@ favmT (Record dept) (b) rwe fa9TT (Cash Dept)
(c) o =ggR favrT (Correspondence Dept) (d) 3 = 1 (All of these)
22. \WATTH o<l ®Isal UoTTell did A & 2 (Which is the best flat file system ?)
(a) T9Il wIga (Cardboard file) (b) Breex ®wiga (Folder File)
(C) TraTdi aTell wIse (Arch file) (d) 397 wIge (Shannon file)

23. UEell IR i BT IEIIHIOT fhsd ay faar ar 2 (In which year , banks were nationalized for
the first time ?)
(@) 1979 (b) 1959
(c) 1969 (d) 1949
24. STHER god @idl fba-l 9 § Fd A9 forar &rar & 2 (In how much time a Post Office
Saving Account is considered incorporated ?)

(a) 9 @9 (Three years) (b) uf=r a¥ (Five Years)
(c) AT @¥ (Seven Years) (d) T a9 (Ten Years)

25. STHER ATAE STHT AToTT Hd URA BT T3 T ? (When was post office saving scheme started?)
(@) 1979 (b) 1971

(c) 1937 (d) 1982



26. MRS FARAT & {1 AT DA AT [THET g4 © 2 (Which department prepares plans for a
business concern ?)

(a) godare favrT (Enquiry Dept) (b) fasra favmT (Sales Dept)
(c) ot favmT (Record Dept) (d) o fa9mT (Planning Dept)
27. U U s | 1 &l sl & ¢ (Which is not mentioned in Inward Letter Register ?)
(a) aE (Date) (b) faw  (Subject)
(c) woT-arel T A9 (Name of sender) (d) 9r=arer a1 A (Name of receiver)
28. DI AT TIAIT 3SR < BT M Hxar & 2 (Which department places order ?)
(a) g 9T (Purchase Dept) (b) fasa favmT (Sales Dept)
(c) Irsrr favmT (Planning Dept) (d) Afewr favmT (Packing Dept)
29. TRHIUT & ITeT & — (Object of filing is - )
(a) =gmaTera | et (Proof in court) (b) HaWsT BT UerRT (Settling of dispute)

() ATEDI B TR BT (Reminder to customer) (d) 377 & 4T (All of these)
30. I AT Gl AJHALTHT DT 0T 78l & ? (Which is not a characteristic of Cross Indexing ?)

(a) #7=71T (Costly) (b) ST (Useful)
(c) |=T (Simple) (d) = (Reference)

31. HIF AT Y ATee fAferfd &1 3701 & ? (Which one is a characteristic of an Ideal Copy ?)
(a) ®feg (Difficulty) (b) s@r@R (Non - elastic)
(c)ToIar (Confidentiality) (d) ¥@=odr (Neatness)

32. 9 9T & foIy Suygaa qgufafelfia=or gomell &I =1 & ? (Which is suitable duplicating

method for Urdu language ?)

(a) zaeuT® (Hectograph) (b) =il (Lithograph)
(c) wf=aa (Stencil) (d) e (Rotary)
33. JEN P STEdBTeE F0T HIF AT §6 <ar & ¢ (Which bank provides long term loan to
Indusries ?)
(a) @mTR® d& (Commercial Bank) (b) =@ §& (Saving Bank)
(c) e & (Industrial Bank) (d) W8&RT §& (Co- operative Bank)

34. 31 9B U= IioHT ®d < < <1 T3 © (When was Indira Vikas Patra Yojana
withdrawn ?)
(a) 1988 (b) 1999
(c) 2001 (d) 1990



35. SIHER a0 W H HH A HH fhadr R ST &R Adhd = 2 (What is the minimum amount
to be deposited in Post Office Saving Accounts)
(a) 100 w0 (Rs. 100) (b) 50 w0 (Rs 50)
(c) 30 w0 (Rs. 30) (d) 20 w0 (Rs 20)
36. e 31fd® <11 fhd @rd R fAerar & ? (Highest rate of interest is provided on which
Account ?)

(a) TTe] @rar (current account) (b) s=ra @rar (Saving Account)
(c) =it ST @ra (Fixed Deposit Account) (d) 3mait ST @rar (Recurring Deposit)
37. [ 9% @ =T g% | @ Bl © ? (Highest rate of interest is charged by which
bank ?)
(a) @maTRe® d& (Commercial Bank) (b) <=1 §& (Indegenous Bank)
(c) 3frenfire §& (Industrial Bank) (d) FE&RT §& (Co- operative Bank)

38. Ufcdl 99 & foIu sidgas gl fe a1 | 8kl @ ? (In which machine analog watch is
installed to count copies ?)
(a) eFeRM% (Hectograph) (b) e (Rotary)
(c) =T (Stencil) (d) ShmIT% (Lithograph)
39. 1 # ¥ fo fafr &1 =marery w=gar < ® 2 (Which of these methods is considered valid
by the court ?)
(a) 1 & ufafafy (Copy by hand) (b) wrei wfcfer (Carbon Copy)
(c) wreree (Photostat) (d) 379 & Pz F81 (None of these)
40. TRIBHRT YOIl T a9 HRd Fad {6 q1d & &= § @1 ofrar 82 (Which factor is kept
in mind while selecting suitable system of Filing ?)
(a) T3 @1 A (No. of letters) (b) gRem (Safety)
() =9 @1 Iuaterar (Availability of space) (d) 7H 1 (All of these)
TGS 9 (TG T4 JERIe & )

Part B (Elements of Book-Keeping & Accountancy)

1. Toue # fear a1 suiisia & 1  fdamar e 2 (Accrued interest given in the Trial
Balance is shown in ) -

(a) =R w@rar (Trading Account) (b) = g1 @rar (P/L Account)
(c) fereaT (Balance Sheet) (d) 379 & ®1g T8l (None of these)

2. M — B @ H SfdT &1 I7f&adT &l wel el & (Excess of debit in the P/L A/c is called)-
(@) Y& o™ (Net profit) (b) g€ BT (Net Loss)

(c) ddheal o (Gross Profit) (d) @&t B9 (Gross Loss)



3. WIAadel & d9Iq AURI DI AT ol @l [daxer darR w=ar & ? (Which account statement is
prepared by trader after Ledger ) -

(a) STt (Journal) (b) 33 981 (Purchase Book)
(c)fasha 951 (Sales Book) (d) Tetue (Trial Balance)
4. % AR fdaRoT fga gRT qarR foar Sirar 8 2 (Who prepares Bank Reconciliation
Statement ?)
(a) @R (Trader) (b) d& (Bank)
(c) < TR (Debtor) (d) ¥R (Creditors)
5. 9 A faaver 91 € ? (What is a Bank Reconciliation Statement ?)
(a) @rargs! (Ledger) (b) Jre gwdd (Cash Book)

(c) frer™ faaRor g1 (Statement to reconcile) (d) 39 & @18 w81 (None of these)
6. T g A TN A ST B WA ST ST g6 & 9T F ... far Siar € 2 (Amount

wrongly entered in Pass Book is ------- to the balance of Cash book.)

(a) SreT (Added) (b) g<r™AT (Subtracted)

(c) o1 (Multiplied) (d) 375 & ®ig 8l (None of these)
7. R @rar fod geR &1 @ & 2 (Which type of Account is Trading Account ?)

(a) Sgfaara @rar (Personal Account) (b) ar&fde w@rar (Real Account)

(c) AET a1 @rar (Nomianl Account) (d) == @rar (Suspense Account)

8. WRIX gV AT &I &M & foy TRUTfeIdl a1 TR 7 ST Yo oFTTel 2, 9 9T dhad &2
(Tax charged by Municipality or corporation on imported goods is called ?) -
(a) ¥ goob (Custom) (b) Scure Yo (Excise)
(c) T (Octroi) (d) Tr<T @R (Dock Charges)

9. I fdsd 5500 FO TAT Adhel AT 1200 ®O B Al 99 T ATA BT T a1 a8t 2 (If sales
is Rs 5500 and Gross Profit is Rs 1200 , what is the cost of goods sold ?

(@) 4500 w0 (b) 6700 0
(C) 4300 w0 (d) 5500 %0
10. 395 ¥ P9 A A5 UR @ T 2 2 (Which of these item is associated to Trading
Account?)
(a) a9 (Salary) (b) FSTT (Wages)
(c) 9T Ud HAsIgYl (Salary & Wages) (d) 371 & @13 T8l (None of these)

11. Tetac ¥ fear Ty qifow <efoar =1 # e e 2 (Closing Stock given in the Trial
Balance is shown in) -
(a) =@mUR @rar (Trading Account) (b) = g1 @rar (P/L Account)
(c) fereaT (Balance Sheet) (d) 39 & ®1g w81 (None of these)



12. ORI+ IS BT g o™ fbd @ | fagrar e & 2 (Net Profit of Accounting period is
shown in which account ?)
(a) =R @rar (Trading Account) (b) fzrear (Balance Sheet)
(c) &9 =1+ e (P/L Account) (d) detuc (Trial Balance)
13. dotue # faar o g f=1 # fegmar e € (Depreciation given in the Trial Balance is
shown in) -
(a) @R @rar (Trading Account) (b) frear (Balance Sheet)
(c) @ =1 @rar (P/L Account) (d) 375 & ®ig 8l (None of these)
14. 71 9 B AT IIET oGl YUITell &1 91T F81 & 2 (Which of the following is not a part of
Double Entry System ?)
(a) @R @rar (Trading Account) (b) Rres §E! (Cash Book)
(c) ™ g% @rar (P/L Account) (d) ure g (Pass Book)
15. 9% §RT N T o1 & Adhe dal & Y R T 9919 eIl © ° (What is the effect of
Interest Charged by Bank on the balance of Cash Book ?) -
(a) ¥ BRT (Decrease) (b) ¥ (Increase)
(c) @I wara =i (No effect) (d) 379 & ®1g T8l (None of these)
16. IfE IATEROT STAT 1 A AP BT © df o deetral & 2 (What is it called If drawing is more
than deposit ?)

(a) 3rferfdemy (Overdraft) (b) o1 (Loan)
(c) =3 (Expenditure) (d) efrexr (Dishonour)
17. §% ERT ®IC T HHIYE B AHS T8 B AT H.oooo. STaT 8 | (Commission charged by
bank is ---------- in the balance of Cash Book.)
(a) SreT (Added) (b) gerar (Subtracted)
(c) Tom (Multiplied) (d) 399 & ®1g 81 (None of these)

18. IS XIbg FE! T Jfefddy 2 AT TAT & 1 a_gell & g 9ol T fau= S 3rgd 8 T
S g1 fdear oar 82 (If overdraft balance of cash book is given , then what happens with
the amount of bills sent for collection but dishonored ?)

(a) STreT (Added) (b) T<r™AT (Subtracted)
(c) Tom (Multiplied) (d) 375 & @18 =81 (None of these)

19. YrIgd ¥ Sfde Y &1 @7 3ef & 2 (What is the meaning of Debit balance in pass book ?)
(a) @ (Expenditure) (b) =1f&fd®my (Overdraft)

(c) &1 (Loan) (d) 3fA1ERYT (Dishonour)



20. f*res @I fdhaw ursdl § 9mar Siar & 2 (In how many forms Balance Sheet is prepared ?)

(a) 1 (b) 2
(c)3 (d) 4
21. 71 | @9 A1 e w¥ufr € 2 (Which of the following is Intangible Assest ?)
(a) f (Land) (b) =Y (Goodwill)
(c) 9ad (Building) (d) =R (Furniture)
22. oFGR ¥ YR &1 Ag © ?  (Creditors is which type of item ?)
(a) =re] AT (Current Asset) (b) T |y (Fixed Asset)
(c) =Tel <TfIa (Current Liability) (d) T e (Fixed Liability)
23. UgeT 1 BT Paf fe@rar ofar g 2 (Where is direct expenses shown ?)
(a) @R @rar (Trading Account) (b) frear (Balance Sheet)
(c) @™ =If @rar (P/L Account) (d) 379 & ®ig A8l (None of these)
24. JGHHT AT fhE A< &1 91T Bar & ° (Semi finished goods is a part of which item ?)
(a) ¥id (Stock) (b) Scres (Production)
(c) e (Godown) (d) 7% & &g T8 (None of these)

25. JTf<H WA & =T DT — DI A @Id 919 o1d & ¢ (Which accounts are prepared in
Final Accounts ?)

(@) @R @rar (Trading Account) (b) frear (Balance Sheet)
(c) =¥ =1+ @rar (P/L Account) (d) 7 = 1 (All of these)

26. Uo fafy faory vt 9wy &R <1fice &1 aRier 8rar @ — (Extracts of Assets and
Liabilities on a particular date is -)

(a) @R @rar (Trading Account) (b) = — =1fa @rar (P/L Alc)
(c) detuc (Trial Balance) (d) fresT (Balance Sheet)

27. I ANTd WR 4 25 Ufaerd 2 ar f3sd Joa w)R @™ 8T — (I profit on cost is 25% then
profit on net sales will be -)

(@) 20% (b) 30%
(c) 33% (d) 40%

28. fUoel a¥ ifvaw TRt &1 HedidT 50,000 F0 ¥ 31frd fHar 4T | g8/ &1 Y4 ST 2
(Closing stock was overvalued by Rs 50,000 previous year. What will be the effect of it ?)
()39 a¥ &1 o9 HH faw m (Current year profit will be shown less)

(b) S a¥ &7 o™ S ST (Current year profit will be shown more )
(c) @™ AT =2 (Profit will be same)
(d) S5 & ®Ig 781 (None of these)



29. /91 ¥ @I A1 YSIRTd &9 F181 © ¢ (Which one of these is NOT a Capital Expenditure ?)
(a) ®rT = (Legal Expenses) (b) F=T (Repair)

(c) 9 &1 ha (Purchase of Land) (d) 5= &1 g (Purchase of Machine)
30. AT UT g &1 IITIHY A A1 11 81 A1 AH ST fhar 1 Afdh oA 9% Bl U
81 g1 , &I @7 fowam smar 22 (If overdraft balance of pass book is given , then what

happens to the amount of cheque sent for collection but not collected ?)
(a) SreT (Added) (b) T<rAT (Subtracted)
(c) o1 (Multiplied) (d) 379 9 ®is A81 (None of these)
31. UrIg® U Ufafelfd & —(A pass book is a copy of - )
(@) 9% DT 9T H§ YRS & WIT BT (A customer’s accounts in the Bank’s books)
(b) 9% @M | AHERIT Adbs dol B (Cash book relating to a Bank Column )
(C) B I UIfeT gd e @1d @ (Firm’s Receipts and Payments Account )
(d) S5 & ®Ig T (None of these)
32. I 9 T AT DY AR 72000 H0 TAT Ahel ot 3600 w0 & al fag @ grft ? (If
Cost of goods sold Rs 72000 and Gross Profit is Rs 3600 , what is the amount of sales ?
(a) Rs. 75600 (b) Rs. 68800
(c) Rs. 75000 (d) Rs. 72000
33. Toruc H & 1AM A9y 71 | faamar iar 2 (General Reserve given in the Trial
Balance is shown in) -
(a) @R @rar (Trading Account) (b) farear (Balance Sheet)
(c) @ =1 @rar (P/L Account) (d) 375 & ®ig &l (None of these)
34. Terac ¥ qre} fear v qifaw <efaar =1 # femar et g (Closing stock given out of Trial
Balance is shown in) -

(a) =R @rar (Trading Account) (b) frear (Balance Sheet)
(c) = =1\ @rar (P/L Account) (d) acem b (Both aand b)
35. /1 # & @9 w1 fa<iig @9 =& © ? (Which one is not Financial Expenses ?)
(@) T X g1 (Interest on Loan) (b) TSt 4R =TSt (Interest on capital)
(c) &1 (Charity) (d) &<1 ge (Discount Allowed)
36. UTd 9cc &I ofl fd @1 # 8rar & 2 (Discount received is included in which account ?)
(a) & =11 @rar (P/L Account) (b) frear (Balance Sheet)
(c) R w@rar (Trading Account) (d) M@ — =g @rar (Income — Expenditure A/c)
37. JIf=0H @ & 991 I & 2 (When is final accounts prepared ?)
(a) gfcr /1 (Every Month) (b) ufafes (Everyday)

(c) wHrE! (Half Yearly) (d) ¥ & a7 H (At the end of year)



38. URf¥% [T — 75000 W0 , fdshd — 225000 , |TST — 15000 , Hhel & — 90000 , hd —
136500 I 3T 1P BT IT0ET B | ? (Opening Stock — Rs 75000 , Sales — Rs 225000 ,
Frieght — Rs 15000 , Gross Profit — 90000 , Purchase — 136500 , then calculate closing stock.)

(a) 0 96300 (b) 91500 =0
(c) 72000 %0 (d) 88600 %0

39. URfY% AT — 75000 W0 , fdshd — 225000 , |TST — 15000 , FhHel & — 90000 , hd —
136500 T 9 A ATl BT AANTA B 70T & | ? (Opening Stock — Rs 75000 , Sales — Rs
225000 , Frieght — Rs 15000 , Gross Profit — 90000 , Purchase — 136500 , then calculate Cost
of goods sold .

(a) 135000 0 (b) 98500 %0
(c) 92000 %0 (d) 125600 %0

40. AHS q81 BT YT — HO 790 , 9 R AT AT ATl — W0 10 , db SR b dAfde =
T8I AT — 255 , UrAge HI AY &1 81 2 (Cash book balance — Rs 790, Interest allowed by
bank — Rs. 10, Cheque issued but not presented — Rs 255 , what will be the balance of Pass
book ?)

(a) 1055 0 (b) 1035 %0
(c) 545 =0 (d) 700 %0




